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11 – Statistics 
Student name: ____________________________________ Score: _______ 

1. One morning, Ashad carries out a survey on the colours of 200 cars in his town.  

These are his results. 

 

 
 

(a) Complete this table of relative frequencies. 

 

 
[2] 

(b) There is a total of 18 000 cars in the town. 

Work out an estimate of the number of black cars in the town. 

 

 

Answer (b) ……………. [2] 

2. In one month there were 120 new cars sold in a town. 

The table shows how many cars of each colour were sold. 

 

(a) Find the value of x. 

 

Answer (a) ……………. [1] 

(b) Find the relative frequency of white cars, giving your answer as a fraction in its lowest 

terms. 

 

Answer (b) ……………. [2] 

 

0.39 0.18 0.15 0.08 

3600 

7 

1

5
 

 

Answers 
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3.                        11    16     8     9     14     6     20     16     12     10 

Find the median of these ten numbers. 

 

 

Answer ……………. [2] 

4. In a year group of a school, students study one subject from art, music or dance. 

The table shows the choices of the 180 students. 

 

Use the circle to draw a pie chart to show this information. 

 

[3] 
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5. The cumulative frequency curve shows the heights of 200 plants measured correct to the 

nearest centimetre. 

 
(a) Use the graph to find 

(i) the median, 

 

Answer (a)(i) ……………. cm  [1] 

(ii) the interquartile range. 

 

 

Answer (a)(ii) ……………. cm [2] 

(b) Find the percentage of plants with heights greater than 50 cm. 

 

 

 

Answer(b) ………………..% [2] 

45 

25 

34 to 36 
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6.  31 students took a test which was marked out of 70. 

The stem and leaf diagram shows their results. 

 

(a) Find the median. 

Answer(a) ……………… [1] 

(b) Another student took the test later. 

What mark did this student get if 

(i) the median and range do not change, 

Answer(b)(i) ……………… [1] 

(ii) the median and range both increase by 1? 

Answer(b)(ii) ……………… [1] 

7.  These are the number of points The Storm have scored in their las 20 basketball matches. 

 

(a) Construct an ordered stem and leaf diagram to show these scores and complete the key. 

 
Key ………  |  ……… = 53  [3] 

(b) Find the median score 

…………………… [1] 

40 

40 

68 

1 
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43 
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…………………… [2] 

 

8.  

 

9.  

 

13 

36 

Negative 

12 
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…………………… [2] 

 

 

 

 

 

 

 

 

 

 

 
 

10.  

 

11.  

 

12.  

 

1 

16 

14 

11 

4 

1 

1.37 

13.  

 

13 
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14.  

 

19 

15.  

 

30 

34 
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720 

330 

16.  

 

17.  

 

7  9 

5  7  7  8 

0  2  2  4  7  8  9 

0  1  1 

72 

18.  

 



 
 

9 
 www.mathssupport.org   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

19.  

 

20 

9.5 

19 

20.  

 

21.  

 

Blue Black 

22.  

 

30 

23.  

 

26 

24.  

 

18 
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25.  

 

[4] 

17 to 19 

26.  

 

– 6 

27.  

 

20 

14 
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[3] 

P 

P 

C 

C 

B 

B 

28.  

 

29.  

 

9.5 

9.8 


